Adding/Subtracting Decimals (I)

90.2 + 2.8 =

65.2 — 11.21 =

85.7 — 85.54 =

48.4+1.05 =

75.8+6.7=

8.9—-14=

98.04 + 80.66 =

6.26 + 2.9 =

84+4.1=

9.67 —4.50 =

Calculate each sum or difference.

21.87 = 5.3 =

19.8 +3.52 =

59.64 — 58.8 =

8.45 —2.5 =

34434 =

3.9+ 298 =

6.8 +5.92 =

73.8 —3.26 =

9.90 + 1.80 =

243 -6.6 =
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Adding/Subtracting Decimals (I) Answers

Calculate each sum or difference.

90.2+2.8 =93 21.87 — 5.3 = 16.57
65.2 — 11.21 = 53.99 19.8 + 3.52 = 23.32
85.7 — 85.54 = 0.16 59.64 — 58.8 = (.84
48.4 +1.05 = 49.45 8.45 —2.5=15.95
75.846.7=82.5 34+34=0638
89—-14=75 3.9+ 298 = 06.88
98.04 4+ 80.66 = 178.7 6.8 +5.52 = 12.32
6.26 +2.9 = 9.16 73.8 = 3.26 = 70.54
8.4+41=125 990+ 1.80=11.7
9.67 —4.50 =5.17 243 —-6.6 =177
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